Math Review — Sealars & V'eetors

- Hall defines a sealar-' as:

physwal quantlty that 1S completely descr1bed by‘_ - o

3 1ts magmtude

o ;__-E?iamples — mass,' volume; Iéﬁgth5 S.pe‘ed' |

. | ffA VeetOr is defined as?' |

phy31cal quantlty that posses both magmtude and g | e

d1rect10n S

 Examples - force, weight, velocity, torque.



Math Review — Order of Operations'/Pifjé(;léde.h‘ce o

- In solving an equation such as

_4 (é b) +'90 5(b c)

“ th»e'o.rdért‘o'fo.llow_ is

o ,:’2) EXponents

3) Muluphcatlon/dwlsmn (left to rlght)

L 4) Addltlon/subtractlon (left to r1ght)




- Practice Algebra Piroblems |
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| Math ReVieW '—Trigonome’try'

aisoppositeside ~ c¢’=a’+b’ B

 memmm®“

C i.S-"hYP‘Ote’nUSe = R S

In Vector'applic:at'ions ¢ will be the resultant vector, 6 will be- . B
~ the direction of the resultant vector, a will be the Vert1ca1 o

| component and b will be the horlzontal component



Type | problem < |
Given a triangle with side c and 0 known, find s1des a and |

~ b. Or given a vector with magnitude (c) and direction (6) )
ﬁnd the Vertloal (a) and horlzontal (b) components

- Use:  sSInB=—" = a=c-sind

| .-;Type 2 problem o : | i
- Given a triangle with 31des a and b known ﬁnd 31de c and R

0. Or, given the Vertlcal (a) and hor1zonta1 (b) oomponents, B

e of a vector ﬁnd its magmtude (c) and d1rectlon (6)

a +b2

 Use: - c? ;:a '+_-b2' ‘ C

b b



| _Practice T rig Problems

"The resultant ground reaction force is 900 N, orrented at
an angle of 50° relative to the horizontal. Fmd the 5
.hor1zontal and Vertrcal components o o

B A long ] Jumper takes of Wrth a hor1zontal Velocrty of her
- center of mass of 9.0 m/s and a vertical velocity ofher
. center of mass of 2.0 m/s Find the resultant Velocrty of :
. her center of mass |

 The hor1zontal component of the ground reactron force is’
- 578.51 N and the vertical component is 689 44 N. Flnd
- v__the resultant ground reactron force | . |

~ A long jumper takes of with the velocity of her center of
- mass equal to 9.22 m/s oriented 12.5 deg above the

~ horizontal. Find the horizontal and vertical components of
“the Velocrty of her center of mass



